Differentiate these for fun, or practice, whichever you need. The given answers are not simplified.

1. f(z) =42" - 5z* 2. f(z)=¢€"sinzx 3. f(z) = (2" +32)™"
4. f(x) = 32%(a* +1)7 5. f(z) = cos'z — 222 6. f(z) = —
1422
. _?=1 e
s f(l') = 8. f(.’l‘) == (31; )(_7;5) 9. f(.'l’) = 111(117671)
22t + 322 =1 ;
10. fiz)=——F7— 11. f(z) = (z*)¥2 =z 12. f(z) =2x— A
' VT
13. y=secxtanx 14. y=x/1+cosx
15. Find the derivative of y = _[;;g_ in terms of f,g.h, f',g’,and &', where /. g, and h
are functions of x.
16. Find the rate of change of y = (4x3 +7x + 1)2 at x=-1.
17. If f(x)=sin’x, find f"(x).
18. Find the slope of the line tangent to the curve y = cos(2x) at the point
where x = 2 .
6
sin(zx),0<x<s1 .
19. Let f(x)= i {e%) *>" Find the values of a and b such that £ (x) is
ax+b,1<x<s2
differentiable at x = 1.
20. Which of the following functions are NOT differentiable at x = 0?
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IfA=f+2¢g.thenA'(3) =

(A) -2 By 2 Cc) 7 (D) 8§ (E) 10
If B=f»g. then B'(2) =
(A) =20 By -7 (C) -6 (D) -1 (E)y 13
D= %.lhenD'(l)r-
(A) ik (B) o (C) 5. (D) - (E)
2 3 9 9

If Hx)=./f(x).then H'(3) =

| 1 ) 2
If Kix) = (%] (x). then K'(0) =

-13 ] . 13 13
(A) 25 (B) 3 (C) 25 (D) 16 (E)
If M(x) = flg{x)), then M'(1) =
(A) ~12 (B) -6 (C) 4 (D) 6 (E) 12
If P(x) = f(x'), then P'(1) =
(A) 2 (B) 6 (C) 8 n 12 (E) 54
If Stx) =f '(x). then $'(3) =

I 1 |

(A) -2 (B) ~3s (C) 3 (D) 2 (E) 2
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Answers: Absolutely not simplified ... you should simplify more.

1. f'(z) = 20z" = 202° 2. f'(x) = €* cosx + (sinz)e”
3. fl(z) = =1(z" + 3z) (42 + 3) 4. f'(x) = 32* - 7(z* +1)%(32%) + (2* + 1)" - 6
5. f(x) = A(cos z)*(=sinz) — 4z 6. fi(e) = L ﬁ)illz_)f(h)
7. f'(x) =14 272 (Simplify f first.) 8. fiz)=3": g a3 (Simplify f first.)
9. fi(z)= —i- + 7 (Simplify f first.) 10. f'(z) = 4z + 0+ 22~ (Simplify f first.)
1. fi(z)=2°- %(2 —2)F(=1) + (2 - 2)}(3?) 12. f(z) =2+ 20%
13. secx(sec’ x+tan’ x)
ia —sinx
"~ 241+cosx
fgh+ fg'h—jeh
]5. Fl
h_
16. 2(4x*+7x° +1)(12x + 14x) _ =16
; 2 .2
17 %[351112 YOS x] = 3[-—sin3 x+2sinxcos’ x] = 3smx(2005 x —sin x)
18. -2sin(2x)| »= -3
6
19. sinz=a+b; ncosmr=a = a=-m,b=x
20. II,IV,and V
6. B
7. B
8 E
9. D
10. C
1. A
12. B
13. D



